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PRACOVNÍ LISTY – MATEMATIKA – 8. ROČNÍK – NÁSOBENÍ MNOHOČLENŮ
Mgr. Jana Míková
1. Vypočítej:

(x + 5)(x + 4) =
(a - 6)(a + 3) =

(k - 7)(k - 1) =

(m + 9)(m - 8) =

(2a + 4b)(7a + 5b) =

(3c + 6d)(7c – 5d) =

(9e – 6f)(e + 3f) =

(4r – 7s)(2r – 9s) =

(10u – 2v)(-u + 5v) =

(0,4m + 0,6n)(2m – 10n) =

(11y – 20z)(12y + 10z) =

(0,5p – 5q)(1,2p – 6q) =

(ab - 2)(ab + 1) =

(x2 + 3)(x - 2) =

(ab - c)(ab - c) =

2. Vynásob a zjednoduš:

(a + 2)(a2 – a + 1) =

(3x - 4)(2x2 + 5x - 6) =

(6 - n)(n2 – 7n + 10) =

(2k2 + 5k - 7)(3k + 3) =

(5p3 – 6p + 1)(4p - 7) =

(10s2 + s - 12)(-s2 + 4) =

(2a + b – 3c)(3a -4b) =
(x2 – 3xy + 4y2)(5x – 6y) =

3. Vypočítej součin tří mnohočlenů:
Násob postupně
(a + 2)(a - 1)(a + 3) =

(2x - y)(x – 3y)(4x – 2y) =

(r - s)(2r + 5s)(4r – 3s) =

(5m + n)(m – 7n)(3m + 2n) =

4b (3b - 8)(7b + 2b) =

8a(9 – 4b)(5 – 8b) =

(3x + 2y)7(8x – 9y) =

(5r – 4s)(-2r)(9r + 4s) =
4. Uprav:

8x – 2x(9y - 5) + 5y(6x - 3) =

(6a - 9)5b – (3a - 9)3b + 7b =

6c – 6(3c + 8d) + 8 – 3c(d – 9c) =

(3a – 4b)(2a – 5b) + 8a(7b – 4a) =

(6x - 7)2y + (6x – 8y)(4x + 9) =

(5r – 6s)(3r + 7s) + (8r + 2s)(4r – 7s) =

(4k + 7)(6k - 2) + (5k - 9)(8k - 3) =

(a - 6)(5a + 9) – (3a + 7)(5a + 6) =

(2a + 3b)(5a - b) – (7a - b)(4a + 2b) =

(2x – 3y)(7x – 4y) – (6x – 2y)(5x – 9y) =
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